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15	 Tessa recorded the times that 15 adults took to complete a run.
	 She showed her results in a stem and leaf diagram.

4 5  9
5 3  7  8
6 1  2  4  5  7  7
7 2  6  7
8 1

Key:

4 | 5 represents 45 minutes

	 (a)	 Find the median.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . minutes
(1)

	 (b)	 Find the range.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . minutes
(2)

	 Tessa also recorded the times that 15 children took to complete the run.

	 For the children, the median was 75 minutes.

	 (c)	 Compare the times that the adults took with the times that the children took.
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(Total for Question 15 is 4 marks)




